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13.

14.

15.

16.

17.

18.

19.

20.

‘Karnawati’ Rani is also known as in
Uttarakhand—
(A) Naak-Kati-Rani

(C) Karna-Rani

(B) Naak-Lambi-Rani
(D) None of these

Kamaleswar Temple is located at—
(A) Joshimath (B) Ranikhet
(C) Srinagar (Garhwal) (D) None of these

The famous picnic spot .......... is also known as
‘Guchu Pani’—

(A) Dak Pathar (B) Robber's Cave

(C) Lakchiwala (D) None of these

The famous ‘Jhanda Mela’ is organised at—

(A) Tehri (B) Haridwar

(C) Pauri (D) Dehradun

Choose incorrect combination—

(A) Gumani Pant — Lok Ratna

(B) Govind Ballabh Pant  — Bharat Ratna

(C) Veer Chandra Singh - Vikas Purush
Garhwali

(D) None of these

Poonam Yadav is .............

(A) Cricketer (B) Weightlifter

(C) Boxer (D) None of these

Who has became the first female speaker in the
parliamentary history of Nepal—

(A) Onsari Gharti Magar

(B) Sabitree Konam

(C) Gurang Hyoja

(D) None of these

Recently Defence Minister renamed the DRDO
complex in Hyderabad as “............ (=

(A) Modi Missile Complex

(B) Atal Missile Complex

(C) Om Missile Complex

(D) Dr. A.P.J. Abdul Kalam Missile Complex
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21.

22,

23.

24,

25.

26.

27.

28.

29.

Which company topped the ‘World's Best
Multinational workplaces list’—

(A) IBM (B) Sony

(C) Wipro (D) Google

Which country has the world's largest middle
class population—
(A) USA

(C) Russia

(B) Germany
(D) China

What was the theme of World Food Day (WFD)
2015—

"(A) Farmers and Agriculture

(B) India and Agriculture
(C) Social Protection and Agriculture
(D) None of these

Which state launched ‘My Brick My Amaravati’
scheme—

(A) Telangana

(C) Andhra Pradesh

(B) Madhya Pradesh
(D) Uttarakhand

Name Yamaha Fascino Miss Diva 2015—
(A) Urvashi Rautela  (B) Natasha Assadi
(C) Jassy Michale (D) None of these

Who has been appointed as brand ambassador of
MRF Limited—

(A) Shikhar Dhawan
(C) Martin Guptill

(B) Virat Kohali
(D) AB devilliers

Who has been crowned Mrs. Earth 2015—
(A) Ritu Bhan (B) Priyanka Khurana Goyal
(C) Pooja (D) None of these

Who is the Chairman of Uttarakhand Public
Service Commission—
(A) R.B.S. Rawat

(C) Rakesh Sharma

(B) Dr. D.P. Joshi
(D) None of these

What is the venue of 3rd India Africa forum

summit—
(A) Mumbai (B) Chennai
(C) New Delhi (D) None of these
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30.

3L

32.

33.

34.

35

36.

37.

38.

........ launched on line fashion store Abot. com—-
(A) Aditya Birla Group

(B) Reliance

(C) Tata Group

(D) Apas Group

Rashtriya Ekta Divas is celebrated on ......
(A) 1st November (B) 2nd October
(C) 25th December (D) 31st October

The amount of National Teacher's award is .......
(A) Rs. 10,000 (B) Rs. 50,000
(C) Rs. 1,00,000 (D) None of these

The Directorate of Higher Education of
Uttarakhand is located at—

(A) Haridwar (B) Pauri

(C) Haldwani (Nainital) (D) Dehradun

Web Portal Vidya Laxmi is associated with—
(A) Educational loans (B) House loans
(C) Land Loans (D) None of these

‘Kuninda Dynasty” is associated with—
(A) Dehradun coins  (B) Badri coins

(C) Kedar coins (D) Almora coins
‘Mori’ block is located in ........ district—
(A) Pithoragarh (B) Chamoli

(C) Uttarkashi (D) Haridwar

‘Drugs Composite Research Unit’ is located at—
(A) Chamoli (Gauchar)

(B) Ranikhet (Almora)

(C) Roorkee (Haridwar)

(D) None of these

Himalayan Institute Hospital is located at—
(A) Jolly Grant (Dehradun)

(B) Haridwar

(C) Pauri (Garhwal)

(D) None of these
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32.
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34.

3s.
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37.
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3.

40,

41.

42.

43.

44.

45.

46.

Choose incorrect matching—

(A) Govind wild life sanctuary — Pithoragarh
(B) Askot wild life sanctuary — Chamoli

(C) Govind National Park — Uttarkashi

(D) Both A & B

‘Jhilmil Tal conservation reserve’ is situated at—
(A) Haridwar Forest Devision

(B) Chamoli Forest Devision

(C) Uttarkashi Forest Devision

(D) None of these

Indian Institute of Management is located at—
(A) Chamoli (B) Udham Singh Nagar
(C) Pauri (Garhwal) (D) Dehradun

The First speaker of Vidhan Sabha of
Uttarakhand—

(A) Govind Singh Kunjwal

(B) Yashpal Arya

(C) Prakash Pant

(D) Harvansh Kapoor

The ‘Praja Mandal Movement’ was associated
with—

(A) Pithoragarh (B) Almora

(C) Udham Singh Nagar (D) Tehri Garhwal

In the following, Who is sprinter—
(A) Yogendra Narayan Bisht

(B) Dutee Chand

(C) Durga Dutt Joshi

(D) None of these

‘Ram Mohan Roy’ is also known as—
(A) Father of India

(B) Chairman of Hindu Group

(C) Father of Modern India

(D) None of these

Year 1757 is associated with—
(A) Battle of Plassey  (B) Battle of Panipat
(C) Battle of Haldighati (D) None of these
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47.

48.

49.

$0.

51.

52.

#:

§5.

The All India Kishan Sabha was formed in—
(A) 1901 (B) 1902
(C) 1911 (D) None of these

In which town is sidhbali temple situated—
(A) Srinagar (Garhwal) (B) Satpuli
(C) Kotdwar (D) None of these

‘Lakhamandal’ is situated at—
(A) Dehradun (B) Bageshwar

(C) Nainital (D) None of these

In Kedarnath region, ‘Gandhi Sarovar’ is also .
known as—

(A) Deveriyatall (B) Chaurabari

(C) Kandi Tall (D) None of these

0.4 1+0.8 ] +ck represent a unit vector when C
is—
(A)0-2
©+0-8

(B)v0-2

(D)o

The area of the triangle formed by 2 i+]-k
and 1+ ] -k is—
(A) 3 sq. unit

{©)2 V14 sq. unit

(B) 2+/3 sq. unit
(D) None of these

The SI Unit of momentum is—

2
(A) kgm® (B) Xem
sec’
Kg. m
(C) (D) None of these

sec
Dimgnsional formula for Volume Elasticity is—
(A) MILT B)M'LT?
The dimensions of universal Gravitational
constant are—
(A) MLT>
©M L3t

B)M L3772
(D) None of these
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56.

57.

58.

59.

60.

61.

62.

63.

The surface tension of a liquid is 70 dyne/sec in
MKS system its value is—

(A) 70 N/m (B) 7 x 1072 N/m

(C) 7 x 10° N/m (D) 7 x 10> N/m

If a Car starts from rest and travels 120 cm in the
6 th second then what is the acceleration—

(A) 0.218 m/s (B) 2.1 m/s

(C)3.18 m/s (D) None of these

A bird flies for 4 seconds with a velocity of

| t-=2 | m/s in a straight line, where t is time in
second. It covers a distance of—

(A)2m (B)4m

(C)8m (D) 10 m

In case of uniform circular motion which of
following physical quantity do not remain
constant—
(A) Speed
(C) Momentum

(B) Kinetic energy
(D) None of these

The force required to keep a body in uniform
circular motion is—
(A) Centrifugal force
(C) Both A & B

(B) Resistance
(D) None of these

The time in which a force of 2 N produces a
change in momentum of 0.4 kg-m s inthe body
is—
(A)0.2s
(C).002 s

(B)2s
(D) None of these

Swimming is possible on account of—
(A) First law of motion

(B) Second law of motion

(C) Third law of motion

(D) None of these

A body, whose. momentum is constant, must
have constant—
(A) Force

(C)Both A & B

(B) Acceleration
(D) Velocity
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64.

65.

66.

67.

69.

70.

Th

72.

The motion of a rocket is based on the Principle 64.
of conservation of—
(A) Mass (B) Linear momentum
(C) Kinetic energy (D) None of these
Which one of the following is not used to reduce 65.
friction—
(A) Oil (B) Sand
(C) Ball bearing (D) None of these
Which of the following is a scalar quantity— 66.
(A) Displacement (B) Electric field
(C) Acceleration (D) Work
Which of following is a unit of energy— 67.
(A) Unit (B) Watt-Newton/sec’
(C) Newton (D) None of these
If the K.E. of a body is increased by 300% its 68.
momentum will increase by—
(A) 100% (B) 300%
(C) v300% (D) None of these
A light and a heavy body have equal kinetic 69.
energy which one has a greater momentum—
(A) The light body
(B) The heavy body
(C) Both have equal momentum
(D) None of these
If the K.E. of a particle is doubled, then its 70.
momentum will—
(A) Remain unchanged (B) Be doubled
(C) Increase 2 times (D) None of these
Which among the following is a form of energy— .
(A) Light (B) Displacement
(C) A & B Both (D) None of these
If a force F is applied on a body and it moves 72.
with a velocity v, the power will be—
(A)FxV (B) F/'V
(C)F/V? (D)FxV?
10
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73,

The angular velocity of a wheel increases from
100 rps to 300 rps in 10 seconds. The number of
revolution made during that time is—
(A) 600 (B) 1500
(C) 2000 (D) None of these

74. Analogue of mass in rotational motion is—
(A) Angular momentum (B) Moment of Inertia
(C) Torque (D) None of these

75. Moment of Inertia along the diameter of a ring
is—
(A) 1MR? @2 =

2 5 m?

(CYMR (D) None of these

76. If the external torque acting on a system T =0,
then—
(A)W=0 B)a =0
J=0 (D) None of these

7T

78.

.

80.

The motion of planets in the solar system is an
example of—

(A) Mass conservation

(B) Linear momentum conservation

(C) Angular momentum conservation

(D) Energy Conservation

The total kinetic energy of rolling solid sphere
having translational velocity v is—

| 7 2 2
A) — B) —mv
()2mv ()ll

© L mv? (D) None of these
9 5

The force of gravitation is—

(A) Repulsive (B) Electrostatic

(C) Conservative (D) Non Conservative

The time period of a simple pendulum on a freely
moving artificial satellite is—

(A) Zero (B) 2 sec

(C) 3 sec (D) Infinite

73,

74.

75.

76.

77.

78.

9.

80.
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81.

82.

83.

84.

85.

86.

87.

88.

89.

As we go from the equatorto the poles, the value
of g—

(A) No change
(C) Increases

(B) Decreases
(D) None of these

Weight of a body is maximum at—
(A) Moon (B) Poles of earth
(C)Both A & B (D) None of these

What is the intensity of gravitational field at the
centre of spherical shell—

(A) Zero (B) 91:—d
r
O g (D) None of these

The escape velocity of a projectile from the earth
is approximately—
(A) 11.2 m/sec

(C) 11.2 km/sec

(B) 112 km/sec
(D) None of these

The escape velocity of a particle of mass m
varies as—

(A) m’® (B) m
(C) m° (D) None of these
According to Hook's law force is proportional
to—

1
(A) x (B) -

x
(©) % (D) None of these

x
Stress to strain ratio is equivalent to—

(A) Fund number (B) Modulus of elasticity
(C) Poission ratio (D) None of these

Young's modulus of perfectly rigid body
material is—
(A) Zero

(C) Infinite

(B)1x10'% N/m?
(D) None of these

Which is correct relation—
(A) y<o (B) y>c??
(C) y=c (D) None of these

81.

82.

85.

86.

87.

88.

89.

12

SET-A

o @ ¥ gal F Sk 9o W g FAR—
(A) & e (B) 512 ©
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(A) 51 W (B) 9=t & g&l W
(©OFNAIRB  D)FH & FK &
Treltg 19 F 5 W Tecg & Fi e e—
(A) I ®

' 2
©g (D) T F F1E 7
et wars %1 Yo ¥ TemET 9 € ee—
(A) 11.2 m/sec (B) 112 km/sec
(C) 11.2 km/sec (D) T ¥ T T

m SEAE % fEE 0 F geEE 3 gErerd
3

(A) m* (B)m
(€) m° (D) T7H | HIE TRl
TF & FEAER oo 7 % Srgearue 8—
(A) x ®) 1

X
©— (D) ¥ & FE T

X

wivee & fagfa &1 U g 3—
(A)FIS &I & (B) NcIreal UN &
(C) wEEH fraufa & (D) 30 | *E &
Tvi 3% T % v 1 G A g —
(A)¥H (B) 1x10'" N/m?
(C) ¥ (D) ¥ ¥ F§ T
& Ty —
(A) y<o (B) y>c??
©) y=o (D) T | #1E T&l
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90.

91.

92.

93.

9.

93.

Modulus of rigidity of a liquid—
(A) Zero (B) Infinite

1
(&)} 3 (D) None of these

Dielectric constant for a metal is—
(A) Zero (B) Infinite
(C) 1 (D) None of these

Charge on a-particle is—
(A) 4.8x107% ¢ (B)6.4x107"° C
(©) 1.6x107%'C (D) None of these

The surface charge density (in ¢/m?) of the earth
is about—

A)107°
(C) 10°

(B) -10°
(D) None of these

In the given circuit, the potential of the point E
is—

1Q ‘
A by e ;_{:‘- i E e AUV'.' godiachig D
\'
5Q
B AMMN— C
T
(A) Zero (B) -8V
3 4
z D) --V
©) 1 v (D) 3

In the given circuit the equivalent resistance
between A & B—

50Q
A AN
vy
350 2 $s50
B l'l'l'l'
&n
(A)3.12Q (B) 1.56 Q
(0)6.2Q (D) None of these
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o faa ¥ fag E 1 fas@ gmm—
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A . e b
8V
50
B AW C
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(A) (B)-8V
3 4
= s W
(C)4 v (D) 3
=1 oftoy # fag A 71 B & w7 go9 wfdy
3
Q
A lrlv.l'l'
s &) s
350 < 3250
B
50
(A)3.120 (B) 1.56Q '
(©) 620 (D)3 | 1 T
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96.

97.

98.

99.

100.

Consider the circuit shown in the Figure. The
current I3 is equal to—

28 Q

AAAA
YVVY

54 Q

AAAA
YVVY

1l

i

8V

(A) 5 amp
5

B) —= am

(B) i 1

(C) 6 amp
(D) None of these

One kilowatt hour is equal to—
(A) 36 x 10 Joule

(B) 10° Joule

(C) 36 x 10° Joule

(D) None of these

What is immaterial for an electric fuse wire—
(A) Its specific resistance

(B) Its radius

(C)Both A & B

(D) Its length

If current in an electric bulb changes by 1% then
the power will change by—

(A) 1%

(B) 2%

(C) 4%

1
D) - %
( >4

The value of internal resistance of an ideal cell
is—

(A) Zero

(B) Infinite

(©)0.5Q

(D) None of these
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SET-A
it qfteg ¥ R 13 &1 A9 Em— '

54
l‘u“h

(A)5 amp
®B) ——g— amp

(C) 6 amp

(D) T7H ¥ &g T

T e wUe qed 8—
(A)36 x 10° Joule

(B) 10° Joule

(C)36 x 10° Joule

(D) T78 | 1§ T

ferga v R & fore = erETE —
(A) 9 fafire wfeg

(B) 39H 378 =W

(C) i A 3R B

(D) T T

fortit weg | vaifed a0 ¥ 1% %1 iads s
R 39! wfed ¥ qfitads grm—

(A) 1%

(B) 2%

(C) 4%

1
D) ~%
()2

;ﬁﬁ ey ¥ F1 RS SRAY S A g
(A) I

(B) 3T

©05Q

(D) T J I &
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